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1. Write your Roll No. on the top immediately on receip't of this question paper

7. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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L 2

_§t_a£e of Economy Probability of occurrence Rate of return (%) 0

__ X Ltd. Y Lt:i.—_-
Boom 0.3 60 40
Normal 0.5 20 3(;—‘-
Depression 0.2 -15 20 |

Based on this information, calculate expected risk and return on both the
proposals. Which investment proposal is better ? (10)

OR

(¢) “Investment is a well-grounded and carefully planned speculation”.
Explain the statement, clearly distinguishing between investment ang
speculation. (5)

(d) Five years ago, Mr. Grover purchased a share of Zen Ltd. for % 90.
During the last five years, the share exhibited following price and dividend

pattern :
Year End price (in ) Dividend (in %)
1 1 95 5
- 2 106 5
3 111 5
4 125 _ 8
5 140 8

Find average return and risk on this share over a period of five
years. ' (10)
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() “faf@eT v gua gan (Well-grounded) 3R W wdw Frdferm wzr & 7
fafdm vd w8 F SRR oA Y T HUT T A0 FAR |

(a) 5@ @ f M F v oL & 3w 2 90 W @R | Frowt 5 76 ¥ siw w P

T SR AN A g @
| R s (3 ¥)
1 95 5
2 106 s e i
3 u 5
4 1 o= 125 8
5 140 8
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b % : 2
(b) A portfolio is constructed by investing 70% of the funds in X I.td and 30%,
In Y Ltd. The information regarding expected return and risk of these

|
Companies is given below : 1
-
X Ltd. Y Ltd
Expected return 20% 15%
Standard deviation 5% 39 '
Correlation coefficient 0.8 .

With the above information, compute :
(i) Covariance between Stock X and Stock Y;
(i) Expected return of the portfolio;

(i) Expected risk of the portfolio;

(iv) What should be correlation coefficient between the returns on these
two securities to get minimum portfolio risk ? (10)

OR

(c) Explain Economy Industry Company (EIC) approach of fundamental analysis.
Do you think technical analysis is a better technique of equity analysis as
Compared to fundamental approach ? - )

(d) Talons Corporatioxi 'i's“‘cnncnuy paying a dividend of ¥ 8 per share. The
dividend is expected to grow @ 10% p.=. for the first five years and 6%

p-a. thereafter forever. Find value of the share if the required rate of return
of the investor is 11%. Would you recommend the investors to buy this share

if it is available at a price of ¥ 250 ? (10)
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. (a) Distinguish between systematic and unsystematic risk. Explain relevance of
this distinction in Capital Asset Pricing Model (CAPM). ®)
ds having a face value of

it can be called after
dis T 1175, find :

3 1000. Th
5 years at

PTO.
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(1) Yield to maturity (YTM) of the bond.
(i) Yield to call (YTC) of the bond. (10)
OR
(¢) Distinguish between :
(i) Money Market and Capital Market

(ii) Security Market Line (SML) and Capital Market Line (CML)  (5)

(d) Mr. Sharma is considering purchase of a bond which is currently quoting
at ¥ 800. The bond has a face value of ¥ 1000. It carries coupon rate of

14% and has 5 years to maturity. Mr. Sharma has required rate of return of
18%.

(i) Advise Mr. Sharma whether the bond is worth buying.

(i) Would your answer change if interest income is subject to 30% rate
of tax and capital gain is subject to 10% rate of tax ? (10)

(%) AT S AT S ¥ S I | ol Fei e e (CAPM)
& R N TR B T |

(@) e FRARTT ¥ 1% A7 27 A 1 Ao 754 71,000 41 | A8 R RFar
srafiy 10 a2, T T 5 A YT W T 1090 T ATE forg o v € 1 AR
e o AR Aed 375 7 | e 2

(i) =3 =t aRaeaar & @l (YTM)
(ii) =13 ¥t 27 @l (YTC)
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. () «Market interest rates and bond values are inversely related”, In 1}, i
this statement explain interest rate sensitivity of a bond : € light of
' ' &)
(b) A three months call option is available for a premium of % 6 per share and
a three month put option is available for a premium of ¥ 5 per share. Find

out the net payoff of the option holder of call option and put option, given
that

(i) The strike price in both the cases is ¥ 220 and

(ii) The share price on the exercise day is ¥ 210 or 220 or T 230 or
T 240.

- Also find break-even price in both the cases. (10)
OR

(¢) Write short notes on:
(i) Financial engineering

(ii) Depository System ()

(d)

ds between the market
olio offering return of

PTO.
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pected return of 20%, is it feasibe 9 It

yes. How ? (10)
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% 100. The Xpec TOV er. The company
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) A mutual fund hag announced g pe

5.5% and annual recurring expense
a minimum required rate of return o
earn annually in order to satisfy

W sc ' ich initi
heme in which initial expenses are
§ are 1,5%,

Investors in the
ki market haye

. How much should the mutual fund
the investorg’ expectations 7 (5)

(©) What is a derivative ? Who are the participants of 4 derivative market 7

(5)
OR

(d) What do you mean by insider trading ? Who is an insider as per SEBI
Regulations ? )
(¢) Explain briefly the process of credit rating. 5)

() Following information is available in respect of 8 Ltd. For the year 2014-15 -

Operating profits % 25,00,000 .
Tax rate ; 30%
Equity share capital (FV=X 100) % 30,00,000
10% preference share capital T 20,00,000
12% Secured Loan ¥ 15,00,000
14% Debentures ¥ 10,00,000
PE ratio 10
After doing fundamental 'analysis, find market price of the share. )

(@) e o A g g forr S 2100 & WX NI T8 NH S R |
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(1) smeRes @R (Insider Trading) & ST =7 v & 7 SEBI Froi @ foam 3
v siezaren (Insider) e 7

(&) Hﬂa»}v‘hﬂaﬁuﬁmaﬂﬁfﬁﬁaﬁ?{a‘?ﬁml
(=) va fu @ sk F P o Iue B 1A 204-15 F forg

r—— 225,00,000 |
T WX 30%

T W gon (FV=X 100) %30,00,000
10% afommr st et % 20,00,000
12% glem &t % 15,00,000
14% =0 9= - %10,00,000
PE 3 10
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